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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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8 B - SECTION Il
ARTS GROUP
(GEOGRAPHY AND ECONOMICS |

In respect of which of the following
demographic features does Odisha
have a better position than India as
per the Census, 2011 estimates 7
(A) Decadal Growth Rate

(B) Literacy Rate

(C) Male-Female Ratio

(D) Population Density

“In India the rich are getting richer
while the poor are getting poorer”.
Which of the following causes of
poverty is primarily responsible for
this 7 : '
(A) - Growing indebtedness

(B) High growth of populatiOh

(C) Lowlevelof income

(D) Unequa!distribuﬁon.ofland and -

other assests

Which type of inflation does appear

in an economy when money supply

" exceeds the available goods and

services ?

(A) Cost-push inflation

(B) Creditinflation

(C) Deficitinduced inflation

(D) Demand-pullinflation

89.

90.

91.

The short term borrowing rate at
which the Reserve Bank of India
borrows money from other banks is
known as:

(A) Bankrate

(B) Callrate

(C) Reporate

(D) Reverse-repo rate

Which of the following concepts does
address the concern over the im- .

pacts of expanding human develop-

ment on the planet earth ?

(A) Free market economy

(B) Resoﬁroe consumption |

{03 2 Sfeady-state economy

(D) Unlimited GDP growth

Wﬁich_ among the following passes
is located in amountain range differ-
ent from the other three ?

(A) Bhorghat

(B) Meighat

(C) Palghat

(D) Thalghat
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92. Which among the following streams
belonging to the Ganga drainage sys-
tem does flow through a rift valley ?

The Betwa
The Chambal
The Damodar
The Son

(A)
(B)
(C)
(D)
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(%l;l QHilrIgressure belt on the globe is

93. Whichareain India does getrainfallin 08.

winter due to westermn disturbances ?

(A)
(B)
(C)
(D)

The Kashmir Valley
The Malabar Coast
The Sundarbans

94.  Which bird sanctuary in India is
famous for Indian Bustards ?

(A)
(B)
(C)
(D)

Bharatpur
Kumérakom
Kutch
Vedanthangai

95. Which among the following steel
~ plantsin India is a major producer of
world-class stainless steel ?

(A) Bokaro

(B) Durgapur

(C) Salem

(D) Vishakhapatnam

96. Graphite : Diamond :: Granite :

7
Gneiss
Marble
Schist
Slate

(A)
(B)
(©)
)

The Deccan Plateau

90.

G

(D)

100.

- (©)
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otherwise known as the Horse
Latitude ?

(A) Equatorial Low

(B) Sub-tropical High

(C) Mid-Latitude Low

(D) PolarHigh

. Which among the following ocean

currents is different from the
other three in terms of its thermal

properfy T

Canaries Current
Florida Current

Gulf Stream -
North Atlantic Drift

(B)
(©)

A .map bearing the scale ‘1 cmequals
to 10 km’ is reduced by four times of
its area. What ié the ‘Representative
Fraction’ of the new enlarged map ?
(A) 1:5,00,000

(B) 1:10,00,000 %

(C) 1:20,00,000

(D) 1:40,00,000

How many parallels of latitude cah be E
drawn on the globe at an interval of ,

10 minutes ?

A)
(B)

1078
1079
1080

(D) 1081
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